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- JHAE 2| 110,000 * 29% = 12& 38,280
- WsE2XH| 140,000 *» 299 » 12& 48,720
- BEF It 48,430,000 * 0.6 * 23] 58,116
o AZ2HAZRY
7,389 x 30AI2F » 299 * 150% * 12& 115,712
o RUIRE
59,115 » 20H = 1 * 150% * 128 30,859
o AXNRESFII==E 59,115 » 29H « 16 27,430
o XNHSHIEEZSY 16,974
-3 12X 52,000 » 1 * 43] 208
-5 22X 49,400 » 7& * 43 1,384
-1 12X 409,450 » 39¥ * 43| 4,914
- 12 =X 373,850 * 7H = 43| 10,468
o HAAM =G 100,000 * 29 = 12& 34,800
o 2Z0I2Hd XM<IH&Hl 707,281,000 * 5.1% 36,072
o Al 19,285
- HANEES =
7,000 » 292 * 353 7,105
- MEsE =cl2tal 6,000 » 298 * 353 6,090
- S22%F /2 24 7,000 » 298 * 302! 6,090
o A= 15,950
- HNgs A, 27U (sS)
250,000 » 299 * 13 7,250
- s &AYs, 272 (6HS)
250,000 » 299 * 13 7,250
- 2g0l3td ¢EX)) 2
25,000 » 298 « 23| 1,450
27,374
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2A: B3EESH
M. HYSAHH|(2#HEES )
e Jl2dhl (&2 &)
5 I poE N
2N -3 - c2(3H) - NEME - HES Ol & oK Oﬁ/TFOH Hns
Jl=23Hl 27,374 26,144 1,230
201 2Et23| 18,804 18,774 30
01 AtR22]dl 14,664 14,634 30
< YBtZd| > 0
o HWIAMNEES 7 20,000 * 9& = 12& 2,160
o MERASE 2,340
- =2 15,000 * 32 = 12& 540
- XX 10,000 * 1582 « 12& 1,800
o Ty EY 250,000 * 7CH = 3& 5,250
o SAI Y WA ADE
300,000 * 2CH = 2& 1,200
o 2AEX 25,000 * 238tA x 6 3,450
o HzJ| 22| 22,000 » 12& 264
02 =323l 4,140 4,140 0
< BEBRSZHAM > 0
o M3 200,000 = 1CH = 123 2,400
o BHYAL F P MILB 120,000 * 12& 1,440
< HgHl > 0
o MNRA HEH2(SR) 7Y
1,041.14 = 2884 300
202 04 H| 4,370 4,370 0
01 2o 4,370 4,370 0
o AAEH(BE) 4,370,000 4,370
203 YRF&| 4,200 3,000 1,200
04 ENBILRF=EHI 4,200 3,000 1,200
o 309! Olat 350,000 * 123 4,200
HWRES(EES) 165,800 169,800 A4,000
BEIE 165,800 169,800 A4,000
SN E 165,800 169,800 A4,000
311 X 20| Xtakst 25,800 29,800 A4,000
06 DJIEtX SO0l RHAHE 25,800 29,800 A4,000
o MYIINEE A2AIE DA Ol KHakst
6,450,000 * 43| 25,800
601 X2 24tst 140,000 140,000 0
06 JIEt=UXIL SRS 42 140,000 140,000 0
o MYHIIMNEE A2AE Jid 2Z4aE
35,000,000 * 43| 140,000
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